Quiz #1  Hw#6     Population & Criteria Model Comparisons      data    ( 942_q1h6a_212.sav

                                                                                                                                     942_q1h6b_212.sav       
Comparing Models of Different Populations      
Using 942_q1h6a_212.sav with Stress is the criterion variable

1. Get and compare the bivariate correlation related to the criterion for each group.
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2. Get the multiple regression model for each group.
Rural          R ________  R² _________  F ________  df _____, ________  p ________  N = _________  

Urban    R ________  R² _________  F ________  df _____, ________  p ________  N = _________  

Ignore the “Comparison” columns for now…
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3. Compare the “Fit” of the model in the two groups using Fisher’s Z-test

Z _________________    Conclusion:

4.  Compare the “structure” of the model for the two groups    ( Make the comparison using the Urban data
a.  r urbanmodel, stress   =  ________        r ruralmodel, stress   =  __________         N =  ___________

b.   r urbanmodel, rutalmodel   =  _________    p  ________     Conclusion:

c. Compare the direct and indirect fits   Steiger’s  Z =_________      Conclusion:

d.  Use the Brame & Clogg Z-test to compare the weights of each predictor from the populations (above). What are the differences between the regression weights of the two models ?

5.  Write it up, following the example in the handout.

Comparing Models of Different Criteria       
Using 942_q1h6b_212.sav with the two criteria depression (BDI) and loneliness (RULS)  

1. Get and compare the correlations of each predictor with these two criteria.
r depression, loneliness   =  _________     N _____________
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2. Get the multiple regression model for each criterion
Depression       R ________  R² _________  F ________  df _____, ________  p ________  N = _________  

Loneliness       R ________  R² _________  F ________  df _____, ________  p ________  N = _________  
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3. Compare the “structure” of the model for the two populations   ( use  loneliness as the criterion
a. r lonelinessmodel, loneliness   =    ___________     r depressionmodel, loneliness   =  __________         N =  ___________

b.   r depressionmodel, lonelinessmodel   =  _________    p  ________     Conclusion:

c. Compare the direct and indirect model fit   Steiger’s  Z =_________      Conclusion:

d.  What are the apparent difference between the regression weights of the two models (base this on β values, please)? Why don’t we apply the Brame & Clogg Z-test to get statistical significance tests to make these comparisons? 
4.  Write it up, following the example in the handout.
